SPARE PARTS LIST

MODEL NO. 6336D

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 851487-7 Adattabla 6336DWA/B 1
002 266130-9 Onmetszo csavar M3x16* 8
003  344391-2 Szerszamtartd, USA-modell 2
004  183490-3 HOUSING SET new 1
INC. 18
005 125091-1 Fordulatszam-atkapcsol6 kar, 1 1
006 416079-5 Eloremenet/hatramenet-atkapcso 1
007 651939-6 Kapcsolé C3LA-1A 651939-6 1
008 687085-9 Tart6 rugos szoritbhoz 68708 1
009 654168-0 Rug6s szorit6 (+) 654168-0 1
010 654169-8 Rug6s szorito (-) 654169-8 1
011 251464-3 Lapos feju rogzito csavar M6x2 1
012 193616-9 KEYLESS DRILL CHUCK 13 SET 1
013 125105-6 Fogaskerékhaz 1
014 629734-2 Egyenaramu motor 14,4V 6336D ( 1
015 265999-8 #Onmetszo csavar M4x25 4
016 266134-1 Onmetszo csavar M4x8 266 3
017 911006-2 Trapézfeju csavar M3x8 911006- 1
018 183490-3 HOUSING SET new 1

INC. 4

AO1 784637-8 +- BIT 2-45

AO03  414938-7 BATTERY COVER

AO04  784637-8 +- BIT 2-45

AO05 824626-2 PLASTIC CARRYING CASE new
A06  192600-1 HIGH CAPACITY BATTERY 14.4V

R R NP




SERVICE DRAWING

MODEL NO. 6336D




